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10. A a1 fred 99 B vl B BT UATE HRQ @ A SA M BT FIA B JAT I
arefl Eﬁ@»’ T | If you want to attempt any question then circle should be properly darkened.
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(A) 91 & 3T T (B) HaRTHR il v (C) <d T (D) &R wifaa @
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(C) T=M HaH & T (D) <1 HaH TR £ |
9. FHIER & T faug 8rm—

(A) =T SR (B) &1 T SR Rorsaan

(C) o I} arell (D) o1 =X
10. =0 9 RAIRre A som 59 w0 § T8 e g 2|

(A) RTSTHTST (B) wregTeT (C) =it AT (D) ezt

(8) weRd

1. Argd Aq § Qoaam 8 BT HRa J AT T —

(A) e FEEE B (B) et Tgd iRy

(C) #E: P ey (D) A& TP Bref
12, B e FEAT qQqIH —

(A) el (B) fefma (C) fnimy (D) fAem
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28.

29.
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(A) (8) ¥ (C)
W AR wr AR - e e T -

(A) TG ®) R (€) drewin
ARG oAy e - Nw o

(A) X0t eI (8) w: Tl (C) . et
UY WY W g ik |

(A) = (8) afe: (C) @q
vaq (eNfET) wenn Rags = @m ?

(A) varam (B) Tarq (C) qar
WINT' ¥ HEgd @) O ¥ 7 27

(A) I (B) 1 (C) Y

- W A A fafy @7
(A) T (B) W (C)
(9) English
cesssnnnenns. apple -

(A) A (B) An (C) The
A female sheep is called a ............... -

(A) ewe (B) mare (C) hind
Raj and his family .............. here since May 1980 -

(A) is living (B) have been living  (C) are living
Give the opposite of transparent -

(A) obvious (B) distinct (C) opaque
Dede has an uncle. The son of his uncle is.-

(A) father (B) nephew (C) grandfather
Prices have been rising ............. than the incomes -

(A) more fast (B) faster (C) fastest

Fill in the blank with an appropriate preposition to complete the sentence:

Khairagarh is famous ........ music and arts.
(A) to (8) for (C)in
Choose the correct sentence.
(A) Tatpara has black long hair.
(C) Tatpara has long black hair.
What is the type of the sentence given below? Come here.
(A) Imperative sentence

(B) Exclamatory sentence

(C) Interrogative sentence

(D) Optative sentence

(D) et

(D) THIRY:
(D) W: 3T
(D) 3

(D) T

(D) Areq

(D) TF TN

(D) none

(D) peahen

(D) has been living

(D) consistent

(D) cousin

(D) most fast

(D) at

(B) Tatpara has hair black hair.
(D) Tatpara has hair long black.
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What is the name of the tense underlined? The children had left the class before the teacher came.
(A) present indefinite (B) past perfect

(C) future continuous (D) present perfect continuo
What is the past participle verb form of ‘hear’?

(A) hear (B) heard (€) heared (D) hears
What is the indirect speech of the sentence given below?

Rahul said to the boy, “What is your name?”

(A) Rahul told the boy what is his name. (B) Rahul inquired of the boy what is his name.

(C) Rahul asked the boy what his name was. (D) Rahul wanted to know of the boy what was his n

One-word substitution:

‘Having a strong desire for success, achievement, power, of wealth’.
(A) ambitious

(B) anxious (C) indigenous (D) piteous
Find out the correct spelt word.
(A) tuition (B) kilos (C) tennise (D) recieve
What is the synonym of “advance”?
(A) Reduce (B) Halt (C) Progress (D) Extend
Life story of a person written by someone else.
(A) Autobiography (B) Autocracy (C) Biography (D)Democracy.
b ecssisnsnrisnns up at 6 o’clock every day.
(A) get (B) gets (C) got (D) getting
..................... | go out, sir?
(A) can (B) may (C) shall (D) will
Please, StOP...cccccerenas sO many mistakes.
(A) to make (B) make (C) making (D) makes
He saw ....ccceeeeeeeceen. Ram nor Mohan
(A) neither (B) either (C) but (D) between
ORILY
TUHId W ad DG 200 + 60 + 5+%
Write 200+60+5+116 as decimal ?
(A) 266.1 (B) 265.1 (C) 26.61 (D) 285

WW@WW4OMWM1OM%$Wﬁ®%m@?¢%

2 A S e o © U SIS 39 B darE T -

The lid of a rectangular box of side 40 cm by 10 cm is sealed all around with tape. What is the length ¢

required.

(A) 400 ¥ (B) 200 ¥4 (C) 100 ¥ (D) s0 AR



. 3 _
5 e ¥ 20 dsfod 915 e 8 T a@ﬁﬂﬁ ° ?ﬁm?e:f;ijsﬁhﬂber Bfbeysy
here are 20 girls and 15 boys in a class. What s the Fato . (D) 4:3
(A) 86 (B) 27 S 228
e oA § fo ‘:";'g Arrange the following In de“e"di"g:rder 9’3’2 .
2 =
witi  eipd @ 0
mﬂmémwﬁ4vﬂ$ﬁmmmmmg’ﬁm
add 4 to eight times a number, you get 60, find the number?
(A) 7 (B) 8 (C) 9 (D) 10
15 BT T ARG T A @@ P D TR § —
ind the angle which is equal to its complimentary angle ?
(A) 40° (B) 45° (C) 50° (D) 5
sa%%ﬁﬂwnm?Wﬁrm%ﬁﬁﬂﬁ@?mWmem%‘
he sum of the three consecutive multiples of 5 is 45. Which is the smallest of the three multiples ?
(D) 25

(A) 10 (B) 15 (C) 20
4

274 1)?
{G-) } fr=ffRad @& fba® aXex 89T — Which of the following is equal to {(5) }

o) ® (@) o®” o ®)"

3

& U9 B AEaT 729 m3 2| TS qoU B Fars T Diferg |
'he volume of a cube is 729 m>. Length of its side is
(A)3m (B) 6m (C)9m (D) 27m

mﬁmmmaiﬁmﬁmmso%uﬁs%ﬁﬁmm%mwmml

ist price of an article is 1050 /- If 6% sales tax is charged, then bill amount is
(A) 1056/- (B) 1113/- (C) 1131/- (D) 1311/-
(b -c) + b(c — a) + c(a—b) TG B a(b -c) + b(c - a) + ¢(a —b) is equal to
(A) ab+bc +ca @O0 (C) 2(ab+bc+ca) (D) 37 | &g & none of these
fx’ +y? =93 xy=8,d x+y @R & :— Ifx'+y =9 and xy =8, then x +y is equal to
(A) 25 (B) 5 (C) -5 (D) 5
'_ 4z 123 UGS & == Factors of z* - 4z - 12 are
(A) z+6)(z-2) (B) z-6)(z+2) (C) z-6)z-2) (D) @+6)0z+2)
J AT AT SEP WER T B YA FIHIAT el MHfA & Yol ST (b GaIAd o1 & —

. possible angle of rotation of a figure having rotational symmetry of order greater than or equal to 2 is

(A) 36° (B) 144° (C) 150° (D) 360



55. WY AqqWl &1 SFFA TG DIRAT et freot 24 % g 20 I 2|

Find the area of a rhombus whose diagonals are 24 ¢.m and 20 c.m.
(A) 260 ait I (B) 220 a7 {F (C) 240 & I (D) 280 T FA
56. U& fax 20 f6. M 5 G F weran B, aw wfdw 32 A fray gve § =@ |
A man walks 20km in 5 hours. How much time would he take in walking 32km ?
(A) 2 §O (B) 8 Tve (C) 6 & (D) 9 ®vC
57. & QUi Hware &1 A TSe |G e Bl 2l

Sum of two whole number is always a ............... number

(A) 3PTSA Prime Number (B) s Composite  (C) qul Whole (D) 77 ¥ 313 &1 None of these
58. WYH 10 UTHd HEARN $HT TH{GR AT SN —
Find out the mean of the first 10 natural Numbers.
(A) 52 (B) 5.3 (C) 54 (D) 55
59. Y B TS A §T BT TP UaT Waw o0 Wikiwar Far 2Rf 2
What will be the probability of drawing a card of diamond from a pack of cards.
(A) 1/2 (B) 1/4 (C) 2/2 (D) O
60. UE AICX ISP BT o 42000 6 T8 W4 URET Je (VAT) oar & 99 Hex Aed R fHe
JI BT d€ (VAT) T —A Motorcycle costs Rs 42000 and 4% VAT or Value added tax is charged on it. How

much tax as VAT would be paid on the motor cycle.

(A) 1670 (B) 1660 & (C) 1690 & (D) 1680 &
) fasm™=
61. PIRIDI ST STUT ATPR g Adhall 2 — The cells capable of changing its shape are -
(A) 3ET HIRGT Amoeba cell (B) WRPHfm Sif¥radT Paramecium cell

(C) gHe Xad HIDBT White blood cell (D) ¥ 3R ¥ TF! AandC both

62. TTISRIISRT & — Spirogyrais -
(A) &dD Fungi (B) WICIWRA Protozoa

©) diareT Algae (D) ﬁ‘ﬂ'ﬁ Virus

63. WRUd4IX % — Weeds are -

(A) I B The main crop plant
(C) Jraifsa qEr ST &= Fhdl 3 T ST 9 & Unwanted plants growing with the crop

(D) TTaf@ UGl Chemical substances
Seure frg g @ Re @ JARIT T — Tadpole is the developing stage of which of these -
(A) @l Dog (B) faselt cat

(C) ¥g& Frog (D) HI™ Human

(B) BT AR UIT Insects and pests

64.



65.

66.

67.

68.

69.

70.

71.

72.

73.

74.

75.

— Thecell formed after fertilization is -

ﬁ&w%maﬁmﬁrmﬁﬁmﬁﬂag
(B) HredT morula

(A) W zygote
(C) <i™gem  blastula (D) Al Gastrula
[T qEed € — An electrolyte is -
(A) &1 A metal
quid that conduct current

(C) 7a Rt & g oy agch 8 Al
gl grar g — Diseases like poli

(B) fafera@= A solution
(D) =1 All the above

et ot B s (Rraperdta) e
(A) fauT] Virus (B) Srarv] Bacteria
(C) ®d® Fungi (D) P Worms
afy T o @ Ul 28 ¥ o SED B -l T-Thepowerofalens is 2D , its focal length is
(A) 5 ¥ (B) 50 ¥
(C) 150 &1 (D) 100 A
frer % & B faga &1 AP 27  Which of the following is good conductor of electricity?
(A) 7@ e P PSTE! Aniron pan (B) asel wood
(C) ST BT ¥ Handle of a pan (D) rfked plastic
ot & & o1 [P dd BT IITERT 27 Which of the following is an example of contact force?
(B) J9fra 9 muscular force

(A) ﬂﬁfﬁm gcl magnetic force
(C) fagga & electric force (D) W i gravitational force

afy fpg Aegd # I R HPd! 27 Sound can travel through
(A) 3rF 3R A solid and gas (8) 1 3fiR A gas and liquid

(C) AT B €I-i bothA&B (D){Tﬁﬁﬁg?ﬁ none of these
gedl @I e qTED IRd HEerd 2 .~ Outer most layer of earth is called?

(A) B crust (B) Wl mantle

(C) 9T BN outer core (D) 3ig R inner core

areAi ¥ fd9 zdor T ITAT 2Yar 22 Which mirror is used in vehicles?
(B) JAAA TUYT concave mirror

(A) |HCC Ul plain mirror
(D)m | Hﬁ'é €1 none of the above

(C) S Yl convex mirror

W%Wﬁ%ﬂ}mmﬁ WW’_WWRS? \\’hichpropcrt)'ofligh(ism?’“

for the occurrence of rainbows?

(A) [RIGd reflection (B) JqaA refraction
(C) fagaur dispersion (D) SYRT TN All the above
AG A ATGEITT v EIaT 87 Air contains nitrogen :-
(A) 78% (B) 21%
(C) 0.03% (D) T |} B T pone of these

o and chicken pox is caused by



76. o1l T a8 O D BRI I Greaw yaer Met (@) § uRafia fhar s woar & ssem 8-
The property of Metals by which they can be beaten into thin sheets is called.
(A) a=aar (ductility) (B) ¥R (Brittleness)
(C) Jramaadifraar (malleability) (D) Trerae (Conductivity)
77. WA Pl W wratr R Smen ¥ | Rayon is obtained fromu.eeess.
(A) YU, T AR A (coal, water and oil)  (B) Fe—g T (wood pulp)
(C) XMwferas (Acrylic) (D) wiaxt (Animals)
78. T U Ny fR-eR R Hge ¥ gRafda 8 o
(Dead plants slowly get converted to coal under.............. )
(A) 71 <19 7 S=1 am (low pressure and high temperature)
(B) = <@ 9 f=1 @ (High pressure and low temperature)
(C) 9= <19 @ I=7 a (High pressure and high temperature)
(D) =1 T T f=1 @9 (Low pressure and low temperature)
79. ® W U g fAegd =rers 21 (Which one is a non-metal which conducts electricity)
(A) dfar (Copper) (B) ¥ (Bromine)
(C) Iwise (Graphite) (D) URT (mercury)
go. far=ifeiRaa il 9 & @9 9 a1t ot & forg RmiaR 87

(Which of the following gases are responsible for acid rain?

(A) O, (B) CO(g) (C) CO4(g) (D) SO,(g), NO(g)
(@) wrfore g
81. el fwre g i @& aga f&ar T4 o — Bengal was divided under the policy of -
(A) BRI IT 7 Do or Die (B) e STall 3R WA & Divide and Rule
(C) ¥rsg &7 fAAIT To form a kingdom (D) =TT AT S Fight or Fly
82. fafeer wRa ¥ fhy w9 # MY — British came to India as -
(A) 9T guRS Social reformer (B) fa¥1® Inventor
(C) Im™® Asrulers (D) <= Astraders
83. g?"lq q 9Rd b forq '\H’ﬂ‘cﬁ At @Y @ fHEs far — sea route from Europe to India was discovered by -
(A) BIigd Columbus (B) SR=AIA] SN Bartholomew Diaz
(C) 9T SI T Vasco da Gama (D) 8T Henry
84. T BT UH g oISl AT — First battle of Plassey was fought in the year -
(A) 1775 (B) 1857 (C) 1657 (D) 1757



85

86

87.

88.

89.

90.

91.

92.

93

94.

95.

_WuRT F gEd AR VAT fbw ad A

sus was held in the year.

§'sz‘ ofi? In India the first cen
(D) 1992

" (C) 1890
ey IR T PR F |

(A) 1872 (B) 1885
HUF fha HET A1? Mahatma Gandhi is 2 seditious middle temple lawyer now posing as half naked fakir»
Who said this statement
(A) STt 99 George V (B) faeeq offet Winston Churchill
(C) ¥ THEBISN Lord Dalhousie (D) Jonfa B Benjamin Hayen.
Rrerr BT SRER RTaH afde 3§ T —Right to education (RTE) act came into existence in the year-
(A) 2009 (B) 2006 (C) 2005 (D) 2008
T 3 U U SURY el fadr «Ar? Where did Buddha preach his first sermon?
(A) Zomerdis Allahabad (B) Wﬁ‘-ﬁ Varanasi
(C) #x1 Mathura (D) QAT Sarnath
g o WS BT AR BT AT HET ST 2 ? Which Gupta Ruler is known a5 the Napoleon of India?
(A) YW Ramagupta (B) << Skandagupta J
(C) ¥==[< Chandragupta-I (D) §g&I« Samudragupta
s fpg Brat B G &7

is a work of whi

ngm'a%ﬁ%rf%ﬁﬁﬁﬁﬂgzﬁﬂvﬁﬁ'%mﬁﬁ@m
The mural painting from Ellora caves which shows vishnu as Nara
period?

(B) Wsgd@c Pl Rashtrakuta period

(A) ok — UfIER BTl Gurjara — Pratihar period
(C) 9TIad icT Chalukya period (D) [<idIcT Gupta — period
RS ﬁv_\q'q'}?f of ? Whose emissary was Megasthenes? :
(B) fe=g9R Bindusara

(A) f®gr Sikandar
(D) 9R[HY Seleucus

(C) facg= wrH Wilson-I
ﬁmﬁrﬁaﬂﬁﬁgﬁﬁﬂﬂazﬁm#ﬁ?ﬁﬁwﬁ'm‘ma%aﬁmmwm%?

Which of the following temple of Chhattisgarh construction is being approved under ‘PRASAD scheme?
: . , . , "
(A) & SEEN ':"aq_ Danteshwari Temple (B) = JrITaN) <41 HfQR Maa Bamleshwari Devi Temple
(C) ¥t wrT HfX Banjari Mata Temple (D) SIqqs geRMTEfER  Jatmai Ghatarani Temple

simha, the man-lion,

Ay SRT BT ST B AN AT ? When was the NITI Aayog formed.
(D) 2013

(A) 2016 (B) 2014 (C) 2015

I b Held 2 :— Saving is a function of ?

(A) 9T investment

| (C) STedal ¥ YUR improvement in productivity
ART § 99 P FGIR H '
frafaRad § ¥ &I AT 27 The union executive in India consists of whi

of the following?

(A) TSTUfY President (B)SU—RTSZURT Vice President (C)H{HSel Council of ministers (D) IGRIE T4 all the 2d
a

10

(B) fAafd export
(D) 31 Income



96. <ot TG B 2 fom SIUe foran AT — Who Implemented permanent sottlomont systern,

(A) ¥R 3l Halder Al (B) wTarfarg Cormwallls (C) SEfich palhousle (D) Aoveedl Wallesely
97. AT 1 IR S s N 3 - Right to Information Act came Into existence In the year,

(A) 2006 (B) 2005 3 (C) 2000 W (D) 2000
op 1857 D FIRE TN AR T8 X S Wmar ¥ 2 The Rebelllon of 1857 Is known by th name -
(A) Ty AR National Movement (8) R fawYs sepoy Mutiny
(C) WA WEN Freedom Struggle (D) a&R RAWE Bastar Rebellion
99. fva T fRaw v w7 mw W & 2 When is International forest day celebrated?
(A) § ST 5June (B) 21 ¥Td 21 March
(C) 23 RIT=R 23 september (D) 1 g 1July
100. U A WRA ¥ YRR ¥ arqf) RS Fef g off ? The Britishers made thelr capital in India Initially at
which place ?

(A) PITHT Kolkata (B) e Delhi  (C) ¥=T$ Chennai (D) T Patna

ROUGH WORK

11
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10.

11.

MATHS

Find the value of x in the equation:-
x?-41x+400=0
(a) 16,25
(c) 15,26

(b) 20,21
(d) 40,1

Distance between two stations A & B is 690 km. Two cars
start simultaneously from A & B towards each other and
the distance between them after 6 hrs is 30 km. If the
speed of one car is 10 km less than the other car then
speed of both the cars is

(a) 50 km/hr & 40 km/hr

(b) 60 km/hr & 70 km/hr

(c) 30 km/hr & 40 km/hr

(d) 60 km/hr & 50 km/hr

" (- Q% () e

2
@ (5) (®)0
© 6 @@®)”
Ifx-1/x =7, then x? +1/x?will be equal to
(a) 52 (b) 51 (c) 50 (d) 49

A regular hexagon is inscribedin a circle of radius ‘@’
then the perimeter of the hexagon will be

(@) 3a (b)6a”  (c)9a

The length of a rectangular field is twice its breadth and
its area is 2450 m?, then the perimeter of the field will be,

(a) 200 m (b) 205 m
(c)210m (d)215m

(d)12a

If a tree 24 m high casts a shadow of 15 m then the height
of a pole that casts a shadow of 6 m s

(a) 9m (b)12m

(c) 10.8m (d)9.6 m

The variable x is inversely proportional to y. If x
increases by p% so y will be decreases by -

(a}2p % (b)p/2%

(p% (d) p/3%

Ifx + 1/x = 2 then the value x? + 1/x* is

@@ 2 (b)3 (c) 4 (d)s

If (a+b)=5 and ab=4 then the value of (a- b) will be
(@ 2 (b)3 (c)4 (d)5

The original price of a machine which was bought for Rs.
13500 including of 8% VAT is :-

(a) 12420/ (b) 14580/-
(c) 12500/- (d) 13492/-

Tford

1. Ry Ty ahew § ' @1 A @ S0
x?—41x+400=0

(@) 16, 25 @) 20, 21

(m) 15, 26 (@) 40, 1

2. ARIHAA T B3 d=F g 690 kmé!z‘lmvr'{n
A @ B & 9o oA @Rdl @ @ 6 8¢ S T AT A
zd 30 km & v 2 aft @ R # AR (@6 T 7w
ﬁlOlﬂn/hrmé,ﬁTa?rﬁaﬁvﬁéﬂﬁ—

(%) 50 km/hr & 40 km/hr
&) 60 km/hr & 70 km/hr
() 30 km/hr & 40 km/hr
(@) 60 km/hr & 50 km/hr

4 1\~ 1743 .__
2 (O x@"-@O7 @) =
@ () (@ 0
M 6)? @ 2)"
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m p% @ p/3%

9. R x+1/x=20Ax*+1/xP T2~
(@) 2 @3 (M4 @5

10. sk a+b=5Samab=4 &1 at (a-b) =1 == -
() 2 @3 M4 ®s

11. 1 7= R e% 2 wRa ns0 ® ¥ ay v e

RS o & -
(@) 12420/- (=) 14580/-
(m) 12500/ () 13492/
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12. Suppose a certain sum doubles in 2 years atr% rate of 12.

simple interest per annum or at R% rate of interest per
annum compounded annually, we have

e @ ad i r % @ide e w4y <0 a m
R % wiffte wngfa @ :1’1 x4 2 ad A <o @ oo B

ol oura § -

(a)r<R (b)R<r m r<R (@ R<r
(c)R=r (d) can’t be decided () R=r (1) vk =11 o on
13. The sum of three consecutive odd natural numbers Is 69 | 13, At g fanm qonsl w1 arn co ? T araa W
then the prime number out of these numbers will be :- ol
(a) 29 (b) 31 (c) 23 (d)19 (@) 29 (@) 31 ('r) 23 (M) 19
14. The probability of getting an even number whenadicels | 14. @ qrRY @Y G g [ W@ W<t ¥ @ wfaea v —
thrown will be,
(a) 1/3 (b) 1/2 @ 1/3 (@ 1/2
(c) 1/4 (d) 1 m 1/4 (@ 1
15. The sum of first n = odd natural numbers is :- 15. s n - Rug el o dred § -
(a) 2n+1 (b) n? (®) 2n+1 (@) n?
(¢) nf=1 (d)yn?+1 (M n?*-1 (@ n?+1
16. The number of diagonals in a polygon of n-sides Is, 16. n-omsil A C@ ager A4 Aol # wom § -
(a )n(nu) ) n(n-2) (@) n(n+1) () n(n-2)
2 2 2
n(n -3) n(n-4) ol i
b) ——= n(n-3) n(n-=4)
== ®) 73 Cm B @) =22
x‘-16 . 4_16
s Saiieres 1S cqual to :- X e
Seaxiraxes 17. Srovirants R 2
@) x—4 (b)yx+ 4
(b) x+2 (dx-2 @) x—4 @ x+4
(M x+2 (@ x—-2
18. éf)Pé)OftS isa ?S)r:;l(l)%logram so(é)PB-OOAR is oo 18. afx PQRS v Wi fo & ot LP- ZR % —
’ : <) @) 60° (@) 900  (m) 8O  (a) 0°
_ — 2 2 ..
19. g;’+124- 12andPQ(l-)-)§§150,P + Q*%isequalto: 19-U%P+Q=123ﬁ?PQ=22€la’IPZ+QZ 8.
(c) 169 (d) None of these (@) 144 (@) 121 ]
(m 169 (@) 0 ¥ o3 7E
20. Length of diagonal of a rectangle whose sides are 10 | 20. & s & <7 4w 10cm @ 24cm @&, O S6D
cm&24cmis- w0 @ darg Bl —
(@) 25cm (b) 20 cm @ 25cm @ 20cm
(c) 26 cm (b) 30 cm (M 26cm (@) 30cm
SCIENCE FQ?TT‘I

21. Which planet has three rings?

(a) Jupiter (b) Mercury -
(c) Saturn (d) Mars
22. is the Festival associated with harvest season.
(a) Dusshera (b) Ganesh Chaturthi
(c) Baisakhi (d) Chritmas

23. All the following metals are solid except.
(a) Sodium (b) Calcium
(c) Mercury (d) Hydrogen

24. Where does the fusion of male and female gametes
generally take place?

(a) Fallopian tube (d) Zygote

(b) Ovary (c) Uterus

21. foa g § &4 gow u oI 27

. (@) gefa (@ =
(m uf (@) wre

22. BHA AEH ¥ 7R W e @dER & ~
(@) <wEw (@) o gt
(m) T @) fFem

23. o % ¥ e sremar F el o 22
(@) |fsam (@) dfezraw
(m) ury (@) eEREE

24, 98 WIF WEl W R q HIEl I ATOE H Werdd o # -
(@) def Aferr (@) ST
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26.

27.

28.

29.

30.

31.

32.

33.

34.

35.

36.

- (b) Vertically upward

37.

38.

. Transmission of sound is not possible through.
(a) Metal (b) Water
(c) Vacuum (d) Air

Which one of the following is present the most in air?
(a) Oxygen (b) Corbon dioxide
(c) Nitrogen (d) Argon.

Watering the crops is called.
(a) Sowing (b) Manuring
(c) Tilling (d) Irrigation

The slow process of conversion of dead vegetation into
coal is called

(a) decomposition
(c) carbonification

(b) evolution
(d) carbonization

Number of pair of chromosomes in a Human cell is.
(a) 23 (b) 46
(c) 22 (d) 34

is the first fully synthetic fibre.

(a) Acrylic (b) Polyester

(c) Nylon (d) Rayon
Percentage of Nitrogen in the Atmosphere.
(a) 21 (b) 78

(c) 12 (d) 87 .

The middle zone of a candle flame is also called the zone
of combustion.

(a) spontaneous (b) rapid

(c) partial . (d) complete

What is known as the Powerhouse of cell?
(a) Ribosome (b) Centro Some
(c) Mytocandriya (d) Reticulum

The force of between two charge(i bodies is called
(a) Muscular force (b) Gravitational force
(c) Magnetic force (d) Electrostatic force.

Man 5uff_ering from myopia uses.
(a) Convexlens (b) Concave lens
(c) Mirror (d) Byfocal lens

The direction of Buoyant’s force is always _
(a) Vertically downward

(c) Along the surface
(d) All of the above.

Which of the following is a bacterial diseasé?
(a) Chickenpox (b) Typhoid
(c) Rabies (d) Influenza

Sound can travel through _

(a) Gases only (b) Solids only
(c) Liquids only (d) Solid, liquids and gases

25. g HER G9a TE 8 -
(@) org * (a) o A
(m frafa & (@) &1 &
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m 12 (@) 87
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(®) rgarEm (@) dram
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39. Colour blindness is caused by the deficiency of
(a) Vitamin A (b) Vitamin B
(c) VitaminC (d) Vitamin D

40. A force of SN gives a mass ‘M’ an acceleration of 10m/s?
and a mass ‘M:" an acceleration 20m/si What
acceleration would 1t give tf both the masses were ted
together?
(a) 6.67 m/s?
(c) 7m/s?

(b) 4 m/s?
(d) 10 m/s?

. SOCIAL SCIENCE

41 When did the first train in India runs between Mumbal
and Thane?

(a) 1857 (d) 1843

(b) 1853 (c) 1953
42. Pondicherry was established by .
(a) Francis Martin ~ (b) Columbus
(¢) Kepler (d) Vasco-de-Gama
3. Non cooperation movement started in the year.
(a) 1 August 1920  (b) 1 September 1920
(c) 1]July 1920 (d) 1 August 1925

44. Who is the father of journalism in Chhattisgarh___?
(a) Pandit Madhav Rao Sapre . (@) ¥ wr@ @ wn
(b) Jay Narayan Pandey (@) @ AR qUSy
(¢) Pandit Sundarlal Sharma (m) e graxera Al
(d) Rajaram Mohan Roy (@) IIRM HiEd I
45. Number of Lok Sabha Constituenciés in Chhattisgarh. 45. BETE ¥ T | A B HE ® -
(@ 10 (b)12 ()11 -(d) 13 @) 10 (@) 12 () 11 (@) 13
46. Who established Prarthana samaj___? | 46. SR HHIS B HRIID g -
(a) Bal Gangadhar Tilak (@) WWﬂa’\'ﬁﬂm
(b) Mahadev Govind Ranade @) wErRg Mg T
(c) Ramabai Saraswati (M) o EEw
(d) Dayanand Saraswati (@) TTFEg Al
47. Right to information Act come into existence intheyear. | 47. g1 & JfeR e afae § aman —
(a) 2006 (b) 2005 (@) 2006 ﬁ (@) 2005 ¥ ‘
(c) 2000 (d) 2004 (m) 2000 ® (&) 2004
48. Which of the following is not appointed by President | 48. frr % ¥ IR sTR ogw Pgwm T8 fee
? ; ST ? 2
(a) Governor of States () RToU @ TSFUTA
(b) Chief Election Commissioner (@) g&= g JgT
(c) Chief Minister of states (m) e
(d) Chief Justice of Supreme court . () e T @ YA M
49. ............is known as Golden fibre. 49, i [ R -
(a) Patsan (b)Tea  (c)Cotton . (d) Polyester @) ucHd @@ (e (@) iR
50. When and between which countries Panchsheel was signed? | 50, @& aiR & Tt & A9 gadie FRRR B T ?

(a) 29% May 1954, Indiaand China
(b) 25% May 1954, India and China
(c) 25 May 1954, India and Bangladesh

39, it A A e ol Ao {°

(@) e &

(w) fefivt ¢
W) R ©

(m fefivy M

40. ‘M’ guemr @ axg QR @ 10m/s? € ten ‘MY
gormr @ uxg Rt @Rer 20m/sz, ¢, g SN @ 9@
e oxer 8 oy e A WYy e R S e g
vl fsoen ey ?

(™) 6.67 m/s? (@ 4m/s?

(M 7m/s? (@) 10m/s?
wrnfore Rgm

41, R N pad g oo @ @l wen aell gEe Yo

oA ad’?

(x) 1857 (@) 1853 () 1953 (@) 1843
42, RAY & wRwmE § -

(@) e iRfes (@) wread

(m) daer (@) ar-f—Tr
43. JEAT R UK BRI —

(®) 1 3o 1920 (@) 1 Ryarer 1920

(M) 1 Somg 1920 (6) 1 IOTRT 1925

44. BERTE N YHBIRGT BT FAD [N T A E P

(@ 29™ May 1954, India and China

@ 25%May 1954, India and China

(m) 25th May 1954, India and Bangladesh
@) 29t May 1954, India and Pakistan

(d) 29* May 1954, India and Pakistan




S51. Haider Ali was the ruler of
(a) Mysore (b) Panjab.
(b) Bangal (d) Hydrabad

52. Under which right of the India Constitution minority
groups can establish School College and university of
their own religion and language __?

(a) Right of freedom

(b) Right of equality

(c) Right against exploitation

(d) Educational and cultural rights.

53. Hajart Mahalis related to :-
(a) Sonakhan
(b) Kanpur
(c) Lucknow
(d) Jhansi

54. Which type of forming is practiced to meet the needs of
formers family?
(a) Intensive farming
(b) Subsistence farming
(c) Commercial farming
(d) Mixed farming

55. Muslim league was funded in the year
(a) 1916 (b) 1907
(c) 1906 (d) 1911

56. Immigration is - »
(a) When a person enters a new country
(b) When a person leaves a country
(c) When a person remains in his own country
(d) None of these

57. Number of permanent member of the UNO.
(@) 10 (b) 05
(c) 15 (d)12

58. Industries come under
(a) Primary sector
(b) Secondary sector
(c) Tertiary sector
(d) None of above

59. Cultivation of Grapes in knows as :-
(a) Agriculture  (b) Sericulture -
(c) Piciculture (d) Viticulture

60. Which tax is given direct to the government
(a) Income tax (b) Excise duty
(c) VAT (d) Custom duty

51. TR M T =1 T 91 ?

@) &R (@) gara
@) @ (@) &S

SETEEI® A TH T2 oy
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61. Sheis ....... most beautiful girl.

o4

65

66

69.

2" -Nilkama! Vaishnav

3. My child enjovy candy Nosgs
(a) hasx (b) have
(¢} had (d) having
Would you please send ... for help?

. What is the behavior of the word in the bracket

. Have you ever ... to Mainpat?
(a) been  (b) gone (c) go (d) went.
Spot the error.

. Use the correct verb form to complete the sentence.

ENGLISH

(b) an
(d) No article

(a) a
(c) the
is Arijit Singh  of
Chhattishgarh
(a) a

() the

(1) an
(JYNo Artdcdle

(a) anyone
(<) anybody

(b) someone
(d) anything

Find out the "adverb of manner phrase® according to the
sentence.

{a) toschool (b) every morning

(¢) by bus (d) at9am '

What is the correct indirect speech of the sentence given
below?

The teacher said, “The sun sets in the west”
(a) The teacher said that the sun setted in the west.
(b) The teacher said that the sun sets in the west
(¢) The teacher told that the sun set in the west
(d) The teacher asked if the sun sets in the west.

according to the sentence?

Call a (Rahul) except the Rahul of class 8"
(a) Propernoun (b) Common noun
(c) Abstractnoun (d) Material noun

“My father gifted me a pink small purse on my birthday.”
(a) My father gifted me a
(b) Pink small
(c) Purse on my birthday
(d) Noerror.

ENGLISH
73. You have never ......... to my home.
() go (b) went
(c) gone (d) been

74. Find out the model which expresses ‘normal suggestion'.

(a) should
(b) would

(c) may
(d) might

75. Choose the correct narration.
The scientist said, “Water boils at 100 degree Celsius”,
() The scientist told that water boiled at 100 degree

Celsius.

(b) The scientist told that water boils at 100 degree
Celsius.

(c) The teacher said that water boils at 100 degree
Celsius.

(d) The teacher wanted to know that water boils at
100 degree.

76. What is the correct indirect speech of the sentence given
below?
Rahul said to me, “What is your name?
(a) Rahul said to me what is my name.
(b) Rahul asked me what was my name.
(c) Rahul asked me what is your name.
(d) Rahul asked me what my name was.

77. What is the meaning of the proverb? |

A blind man has no judgement of colours.

(a) Discuss the matter publicly.

(b) A man without sense can never make correct
decisions.

(c) Startreading book by utilizing the time.

(d) Add fuel to fire.

78. Find out the correct spelt word.
(a) Tuition

(b) Programm

(c) Goverment

(d) Enyronment

79. What is the synonym of "healthy*?
(a) ailing (b) sick
(c) good (d) well

YITTENL v esthiSiEXAIT, 80. What is the meaning of the proverb given below

(a) passing (b) pass A stitch in time saves nine.

(I passed () topass (a) Make a good start and you will complete task easy.
71. If you have a heart problem, you .......... face financial (b) Quick action to solve a small problem saves a great

problem. problem. .

(a) Might (b)would (c) usedto (d) should (c) Itis wiser to be careful than take risk.
(d) Work is quickly and easily done when many people

72. Find out the error. help. :

“Rahul's sister has black long hair.”

(a) Rahul's sister has (b) black long

(c) hair (d) No error
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61, Uivivssennriananns 10 MY uncle’s house in BLEEE 1 L=7 B

(A) Go (D) was E°'"F
(€) Golng
62.  Mowasastrong and ST Loriesissreses . (8) Girl
() Boy (D) womer
(C) Person
63. Thero I8 v kid In class the class - (8) The
(A) An \ (D) same
QA
ing the street
64, Alice saw the old WOMER.uuecees ... she was Cross ng (8) whom
(A) Where (D) when
(C) Who
uman beings -
65. AEET | ooevrvunnnns the boOK, 1 realized science is usefu) fOf(:;) reading
(A) Took (D) read
(C) Looking
. 1was so happy to see a ... f quails on the country voad-
66 | was so(:azpy tz see a orqu (8) Archipelago
) Crow (D) None of these
(C) Bevy
67. Is that cup ...ceennes - ' .
(A) His (B) HIm
(c) My (D) Our
68. Diamond is the ......ccceeee Natural substance - x
(A) Hard (B) Harder
(C) Hardest . (D) None of these
69. My brother won an award for beving ............. Best speller in our school -
(A) A (B) An
(C) The ' (D) Nane of these
70. In some computers there are keys which can have as many as five different functions -
(A) Either (B) Each
(C) None ' (D) Every
71. The windows are so dirtyl | CON't SEC.uiiiccucnrerenes them atall -.
(A) Througl_\ (B) In
(C) Out (D) None of these
72, After th i
mc(::) | :i(:ifa Tlt:dymg hard, Meeta ........cciveerennces cleared IAS examination -
- (B) Consequentl
T y
(C) Therefore (D) Finally
73. Tom and Carol often have heated arguments, bu
» t the
(A) Down Y(aa‘ways make .............. later -
(C) Up ) Away
(D) Along

74. We can go out now; the danger is over
(A) Hasn'™ '+ (B) isn’t

() Is it . e i

) (D) isn‘tt




75. He will see you as soon as Mr Brown
: (A) Leave

(C) Left

----------------

76. The students ......c... to submit -

(A) have asked
(C) Has asked

77. Mary ; ‘1 have had three cars -

(A) Has
(C) Had had

78. Choose the word is correctly spelled -

(A) Gaurantee
(C) Garuntee

79. bsisssisessonss my shopping at the weekends -
(A) Have

(C) Has

80. OPPOSITE of the given words - Crowded

(A) Busy
(C) Quiet
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Q1 He.oooeerernnnn, Football every day.
(Use correct form of the verb)
(a) Play (b) Played
(c) Playing (d) Plays

PSS srciesssorunspssmpesstiasusmns saisass . S s F s
Q2 She ... European lady.
(use correct article)
(a) and (b) an
(c) the (d) None of the above
ANS. e
Q.3 The Soldierarenot ................. they are brave.
(Fill opposite meaning word)
(a) Coward (b) Covered
(c) Cover (d) Convey
ANS. et
Q4 lrich............ then my sister. (use word “early’)
(a) Earliest (b) Early
(c) Earlier (d) None of the above
ANS. oo ST
Q.5 AshoK .....cccccoernn for Raipur yesterday.
(a) Leave (b) Left:
(c) Leaving (d) None of the above
AIS. veiicesvssneussesnionsssasssanssass sssscsibrossassasssasssasaasas
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.10 Y€ T &1

37) IR SE 1 D1 € (9) IR @A o
F) IR 1 & 91 () 3R | ¢ |
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2.11 The main river of western plain of india is.
(a) Brahmaputra (b) Indus

(c) Sutlej (d) Chenab

...................................................................

212 psually temperature diversion in atmosphere
increase in height by 1 km.

(a) 5-5Digree  (b) 6-5 Digree
(c) 7-5 Digree  (d) 4-5 Digree

..................................................................

213 In which temperature water convert into ice.
(a) -32°F (b) 10°F
(c)0°F (d)32°F

------------------------------------------------------------

).14 Gandhi sagar dam is situated on
(a) Gangariver  (b) Chambal river
(c) Sutlej river  (d) Chenab river

Q.15 Kodar Dam is situated in.....
(a) Assam (b) Chhattisgarh+
(c) Mizoram (d) Tamilnadu

------------------------------------------------------------

Q.16 Most important objective for any nation is
(a) Economy (b) Health
(c) Security (d) Education

------------------------------------------------------------

Q.17 In Loksabha, number of Member of parliament
from Chhattisgarh.

@6  (®9 (M (@13

------------------------------------------------------------

Q.18 Constitution has given us fundamental right
(a) 5 (b) 6
(c) 4 (d)7

------------------------------------------------------------

Q.19 World famous Shiva Mandir situated in C.G.
(a) Barsur (b) Ratanpur
(c) Sirpur (d) Rajpur

------------------------------------------------------------
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Q.20

ANS

ol
cc.‘

Ans.

Q.28

Ans.

Q.29

Do or die slogan was given by
(a) Subhash chandra bose
(b) Bal Gangadhar Tilak

(C) Abul KalamAzad  (d) Mahatma Gandhi

Ory K0 s
(a) Liquid CO,

(b) GaseousCO,
(¢) Soid CO,

(d) None of the above

This is not a member of solar system.
(a) Planets (b) constellations
(¢) Cluster (d) asteroids

.................................................

Which soil s suitable for the growth of plants.
(a) Black sofl (b) sandy soil
(c) loamy soil (d) none of the above

Unit measure of atmospheric pressure is equal
to the Colum of mercury pressure of

(a) 7-6 cm (b) 760 mm

(c) 0-76 cm (d) 76 cm

------------------------------------------------------------

Noble metals are usually
(a) Reactive  (b) Non-Reactive
(c) Soluble (d) None of the above

............................................................

Allotropy is found in
(a) In element
(c) In mixture

(b) In compound
(d) All of these

............................................................

Example of prokaryotic cell is.

(a) Euglena (b) Amoeba

(c) Paramoecium (d) Blue-green algae
The cell was discovered by

(a) Robert peri (b) Robert look

(c) Robert hooke (d) Robert duke
Mushroom is a

(a) Protozoa (b) Algae

(c) Flower (d) Fungi

------------------------------------------------------------
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).30 The germs causing maleriya is

\ns.

2.31

ns.

1.32

(a) Bacteria (b) Virus

(c) Protozoa (d) Fungi

The refractive index of glass is

(a) 0-15 (b) 1-5
(c) 0.0015 (d)15

------------------------------------------------------------

When the object is placed at 2F. The image
formed

by a convex lens will be at :

(@) 2F (b)F

(c) Between F and 2F

(d) Between F and optical centre

..................
------------------------------------------

This is natural magnet:
(a) Magnetic needle

(b) Bar magnet
(c) Lode stone

(d) Soft iron

------------------------------------------------------------

Permananat magnet are made from
(a) Iron (b) Nickel
(c) Cobalt (d) Alnico

------------------------------------------------------------

Magnetic Power of a magnet is :

(a) Maximum at the poles.

(b) Minimum at the mid point

(c) Both the above statement are correct
(d) Its same all over

In a simple voltaic cell electrolysis happens to
a) Dilute Sulphuric acid

b) Dilute hydrochloric acid

c) Copper sulphate

d) Potassium oxide

P — —

------------------------------------------------------------

The following is not good conductor of electricity
(a) Copper (b) Brass
(c) Graphite (d) Glass

------------------------------------------------------------
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Q.38

Ans.

Q.39

Ans.

Q.40

Ans.
Q.41

Ans.

Q.42

Ans.

Q.43

Ans.
Q.44

Ans.

Q.45

Ans.
Q.46

Generator works on the principle of :
(a) Electro Plating

(b) Heat effect of electricity

(c) Electromagnetic induction

(d) Electrolysis

......................................................
......

Out of these, this is a non renewable source of
energy

(a) Wind energy (b) Petroleum

(c) Tidal energy (d) Solar energy

...........
-------------------------------------------------

The enery converter in a solar cell is made of ;
(a) Alum.inium (b) Carbon
(c) Plastic (d) Silicon

............................................................

The energy received from the battery is :
(@) Chemical energy (b) Heat Energy
(c) Electrical energy (d) Mechanical energy

............................................................

Itis not Product of petroleum
(a) Petrol : (b) Bio Diesel
(c) Kerosene (d) Diesel

The carbonic product obtained from the waste of
animals and the decomposed plants is called
(a) Fertilization (b) Manure

(c) Green manure (d) Bio Fertilization

............................................................

Which machine is used for both reaping and
threshing } ,

(a) Thresher (b) Tractor

(c) Combine (d) Harrow

............................................................

B.C.G. is used agains :
(a) Poalio (b) Tuberculosis

(c) Typhoid (d) Maleriya

.............................................................

Which is a bacteria borne disease
(a) Chicken Pox  (b) Typhoid
(c) Rabies (d) Influenza

............................................................
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i47 Infections disease caused by protozoa :
{ (a) Dysentery  (b) Malaria
(c) Diarrhea  (d) All of the these

48  Which of the following algae is used in making

,f glasses and porcelain
(a) Chlorella (b) Diatom
(c) Green algae (d) Volvox
TR S

49  The oxide of sulphur (Which can be fﬁrther
oxidized) when dissolved in water gives

(@) H,S (b) H,SO,
(c) H.SO, (d) H,
T - N
50 Coiris obtained from :
(a) Neem tree (b) Rubber tree
(c) Coconuttree  (d) Palm tree

S WD YU - . . S

51 Acell convert the following to electric energy :
(a) Mechanical energy  (b) Chemical energy
(c) Heat energy (d) Magnetic energy
. e

— P ————————

52  Which is not a method to maintain the fertility of
the soil :
(a) Crop rotation(b) Mixed Cropping
(c) Weeding (d) Leaving the land
uncultivated for some time

S, e

53 Duroneisa :
(a) Nature fibre
(c) Plant fibre

(b) Synthetic fibre
(d) Cotton

54 After entering HIV in human body , it destroy :
| (@) R.N.A. (b) W.B.C.

. ()RBC. (d) D.N.A.
R SR AP

55 Whatis Full form of O.P.V.:
- (a) Oral polio vaccine  (b) Oral pulse vaccine
(c) Oral Polio Vacuum  (d) Oral Piliya Vacuum
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v. 51 3 Frifd Soif o1 faega St # uRafia S &-
(31) TS (T) TR

(9) FY (I) JIN
B i e eemreeesssrasaensesaaen

v. 52 Prifed 9 A o B it o o & @ v o e i ¢
(31) Bud THv1 (3) Fifda wue yonuh

() et (2) 3t @ T THa & ol el B <

W=

¥.53 SO &-

(31) Mol XM (q) WYARE ¥
() TTfdl 39 () U™
ROLEC

1. 54 AFd TR ¥ TS Wa9T R € T 3-
(31) RN.A. (8) W.B.C.

(9) R.B.C. (3) D.N.A

J:-....

Ess AR A oA A E-
(31) 3ife iferdl d8F (T) 3R T TR
(W) v O dE (%) 3R Biferadl S
I -
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Q.56 NaOH+HCL NaCl+H,O thisis
(a) Decomposition reaction

(b) Combination Reaction

(c) Neutralization reaction

(d) Precipitation reaction

Ans.
Q.57  On Ignition when a substance combine with
oxygen, the process is called. :

(a) Reduction (b) Oxidation

(c) Decomposition (d) Displacement

............................................................

Ans.

Q.58  Which structure are found in animal & plant cell ?
(a) Cell membrane and chloroplast
(b) Cell membrane and Nucleus

(c) Cell wall and chiroplasts

(d) Cell wall and nucleus

............................................................

Ans.

Q.59  What are the actual components of air
(@) N-78% 0-21% Ar-0.9% Co,-0.03%, water
vapour&0-04%, gases and dust particles
(b) N-78.2% 0O-21.5% Ar-0.9% Co,-0.003%,

water vapour &0-04%,gases & dust particles
(c) N-78.4% 0-21.7% Ar-0.9% Co0,-0.0003%,

water vapour &0-04%, gases and dust particles
(d) N-78.6% 0-21.8% Ar-0.9% Co,-0.04%, water

vapour &0-04%, gases and dust particles

ANS:  isvssscevrins imisrmannesin st it e

Q.60 Which gas is produce when metal react acids
(a) H, (b) N,
(c) O, (d) NH,

ANS. ceieen s niairi e s TG ATATOREE 2

Q.61 Identify the perfect Cube for the given number \
(a) 22000 (b) 2744
(c) 832 (d) 800

IS st it i s s GOEEEA g

Q.62 The next number of the series

(a) 19 (b) 21

(c) 23 (d) 25
ANS. e SRR B
Q.63  Choose the correct option

(a)40 (b)20 (c)25 (d)15
ANS. ecrsonesorsnmsmsrasnsasnssesessssbesissiissasiss sissoisio

7. 56 NaOH + HCL NaCl+H,0

1.57 mﬁmmamma-
(31) 31Ter (d) 3

(37) 3nqued (3) faeamd

e 1< £ SRR Rt

7. 58 @ A T g AT et DTS ¥ urdh o 3
(m)mﬂggwmmm

(9) BIfT®I qel

() TIRTE! Firdl 2T TARIERT

() D! fird a1 oD

T i e eeeercecessasessassrasssssnnnasans

V. 59 a1 31 aRAAfd® e &-

(31) N-78% 0-21% Ar-0.9% CO,- 0.03%

TS -0.04% & I 9 4 & B

(d) N-78.2% 0-21.5% Ar-0.9% CO,- 0.003%
SIeTaT -0.04% U4 19 T 4 & BUI

(W) N-78.4% 0-21.7% Ar-0.9% CO,- 0.0003%
Sl - 0.04% T4 19 T ¢l & B

(%) N-78.6% O-21.8% Ar-0.9% CO,- 0.04%
T - 0.04% T4 9 ¢ & BT

IR :-.........

T.60 AU I A s oMW @i & 2
() H, (A)N,

(W) O, (T) NH,

RS

1.61 ﬁmmﬁamﬁlmqyima ?
(31) 22000 (q) 2744

(W) 832 (<) 800

S -

¥. 62 & R St o apred < e 2
(31) 19 (a) 21
(W) 23 (%) 25
G A

U.63 625 31 W fwew gfiy
(31) 40 (3) 20 (W) 25 (2) 15
I -

.............
.........................

65

1S.

66

1S.

67

18.

B¢

1S

\



ns.

n

ns.

ns.

64 The mode of data 5,3,2,2,4,5,3,3,4,353 is
@2 (3 ()4 (d5
HiSi  aaevaasmuvisacinessmsssassarsamasasstsssmpganesess

65 Find the Area of parallelogram base 15 cm and
height 10 cm.

(a) 25 sq. cm (b) 150 sq. cm

(c) 300 sg. cm (d) 75sq. cm

66 The longest chord of circle is called-
(a) Radius (b) diameter
(c) Circumference  (d) none of these

............................................................

67 Areaof half circleis -

(a) @ b)2
(c) 12 (d) P4

............................................................

68  The value of (a-b) (a’+ab+b?) is equal to-

(@)a™+b’ - (b)a+b?
(c) a™b’ (d) a*b’

------------------------------------------------------------

S.

69 (a"=Db")is equal to-

............................................................

.70 Multification of x and (a+b) is -

(a) ax+b (b) a+bx
(c) ax+bx (d) None of these
NS, .ussremsenresnessasiisosssis sussansuesnnsnsansigsasansnssds
.71 The median of data 4,5,10,6,7,14,9,15 is -

ns.

()6 ()7 ()8 (d) 10

72 TheH.C.F of20a’b and ab’c is-

(a) 4a’ (b) ab
(c)(a) and (b) both  (d) None of these

------------------------------------------------------------

.73  Find out the smallest number which When

multiplied by 200, so that the product becomes
a perfect square-
@2 (5 ()9 (d)3

------------------------------------------------------------

e

V. 64 01 1 agaT® T & 5,3,2,2,4,5,3,3,4,35.3
(31)2(q)3 (W) 4()5
I -

V. 65 WHiAR Tqiel BT 8. T ST MR 15 ¥90. wd Jarg 10 F.
(31) 25 sq.cm (d) 150 sq.cm
(W) 300 sq.cm (]) 75 sq.cm
IR -

1. 6630 & Ya¥ TAl Sl Beeal &
(31) AN (4) A

() R () FH A TS

I -,

V. 67 3Mig BT &FG 2N
(3 f@ 2°

(W) #2(%) rl4

I -

1. 68 TR (a+b) (a*+ab+b?) WA &-
(31) a%+b® (q) a*+b?
(9) a*b* (]) a’-b’
I ...

1.69 (3" b") W 2|
() a™ (q) (@)™
(W a™ (]) @™
IR -

¥. 70 X B BT (a+b) BT PPHG BN
(31) ax+b (q) a+bx

() ax+bx (T) T A D A&

RS ETIN

7. 71 A ™ 353 & witast AW -4,5,10,6,7,14,9,15
(3) 6 (A)7 (W) 8 (3)10
I -

Y1.72 20a%b 3R U ab’c 1 HEoH THNIGS &M
(31) 42 (7) ab

(9) (3N and (@) both (X) None of these
I -

LN FAATAR R 200ITWTRARE
of T A TR

(A) 2(1) 5 (W 9(]) 3

I -

(9)



Q.74

Q.75

Q.76

Q.77

Find the values (18x’y*= 6xy)
(a)-3xy (b)+3xy
(c) 3xy (d) 3xy*

............................................................

Find the mean 81,74,69,73,91,55,61 :-
(a) 89 (b)72
(c) 92 (d) 83

...........................................................

Find the area of the thombus where diagonals
are 24cm and 10 cm.

(a) 120 sq.cm2 (b) 120 sq.cm

(c) 120 sq.m (d) 120 sq.mm

------------------------------------------------------------

The sum of two number is 42. If second number
is twice the first one, Find the number.

(a) 24 (b) 26

(c) 28 (d) 32

............................................................

Find compound interest for Rs. 4000 at the rate

of 5% for 2 years.
(a) Rs. 320 (b) Rs. 420
(c) Rs. 410 (d) Rs. 520

------------------------------------------------------------

Find the area of the parallelogram where base is

4 cm and perpendicular is 7 cm.
(a) 27 cm2 (b) 29 cm2
(c)26 cm2 (d) 28 cm2

------------------------------------------------------------

What should be subtracted from denominator of

Sl6toget1?
@1 ()2 ()6 (d) 0.5

------------------------------------------------------------

A bag has 6 white, 11 red and 7 blue balls. Find
out the probability of drawing a white ball out of

that bag .
(a)5/7 (b)1/4 (c)3/7 (d) 4/1

------------------------------------------------------------

If one of angle of a parallelogram is 600 , then

value of opposite angle are- .
(a) 600 (b) 1200 (c) 900 (d) 1800

------------------------------------------------------------

1
1. 74 (18Xy’+6xy) BT 7§ |
(31) -3xy () +?x2y
() 3xy () 3xY
3 [ £ |
81,74,69.73,91,55,61
1.75 oy JTwE) 1 AT Fd L2l 4

(31)89 (4) 72
(W) 92(T) 83
R (3 [ TR

T nmmwv’mﬁ”“mm“mw

(37) 120 sq.cm’ (@) 120 sq.cM 1

(W) 120 sq.m (&) 120 sq.mm
T i cenerresnannrnssanssasases

0 77 <) S 1 2N 42 guﬁ@ﬂmw;m%.
' 6

2 it 78 W 1 A

(31) 24 (9) 26

() 28 (%) 32

<11 TR

7. 78 4000 . BT T @t 2 76 & ford 5 U B g,

(31) Rs.320 (d) Rs. 420
(9) Rs. 410 (T) Rs. 520
I -

.79 mmfawmiaasrﬁammﬂﬁimm4wm8
ifirciq 7 9ft. &

(31) 27cm’ (q) 29cm?

(W) 26cm” (]) 28cm?

S ==,

V. 80 WA 5/6 & & A T weTs o 5 1 W ) 2

(31)1(7) 2

(M) 6(8) 05 3
- ...

. 813 ¥ & % 6%, 11 W1 o 7 4 ke g A A AR
e e Bt Wi o 2y ? ?

(31) 5/7 () 1/4

(W) 3/7 () 4/1

I ... "

1. 82 IR Tt 1 W whor A 60 Fed & 7@
UG WG BT 1 Ay 2y 2

(31) 600 () 1200

() 900 (]) 1800

------------
---------------------------------
----------
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)0

D1

If 2x=10 then value of xis -
(@5 (b)8 (c)12 (d) 20

............................................................

The numerator of rational number is 3 less than
its denominator, then rational number is-

(a) (x-3)/x (b) (x+3)/x

(c) 3/x (d) x/x

..........................
..................................

The value of the sum of all the internal angles of
a polygon area is-

(a) (n+2)x18(()}° (b) (n-2)+180°

(c) (n-2)x180 (d) (n+2)+180°

---------------------------------------------------
........

The base of cylinder is of -
(a) Triangular shape  (b) Rectangular shape
(c) Square shape (d) Circular shape

------------------------------------------------------------

(c) 6a°

............................................................

How much volume of iron is required for making
solid iron rod with diameter 1.4 cm & length 90cm

(a) 138.20 (b) 138.60
(c)139.30 (d) 137

-------------------------------------------------------------

If mean number 7 is of series 8,5,x,6,10,5
then what will be the value of x
(a)7(b)9(c) 15(d) 8

............................................................

Simplest form of (9/16)° is...
(a) 271256 (b) 81/32
(c) 18/256 (d) 81/256

------------------------------------------------------------

Numerator of any fraction is 3 more than its
denominator, if numerator is 8 then what will be
the fraction.

(a) 3/8 (b)8/3 (c) 5/3 (d)8/5

...........................................................

T. 83 TR 2x=10 A 9@ 3 &1 9H T &M
(3)5(T)8 () 12(3) 20
Jui -

1. 84. U f5A fir e &1 319 30 | ¥ 3 TH & 78 R i W&
T ?

(31) (x-3)/x
I~

(@ (x+3)/x (/) Ix (]) xx

v. 85 5 aget & & TR 3 BN & T BT AA e A B
(31) (n+2)x 180° () (n-2)x 180°
() (n-2)x 180° () (n+2)+ 180°
I~

7. 86 Y 4 T MY &l -

* () PR (4) STAeR

(W) TP (T) TR
JWX:-

.87 IR 10 a* - 12b°=2 (.....-6b%)
(31) 3a°(9) 5a° :
(W) 6a° (%) 2a°.

I~

7. 88 U3 o e & WA &1 & ford e a &t amavasan
¥ Tl B3 o &R 1.4 Wi 3R IS e 90 B A

(31) 13820 (d) 138.60

(9) 13930 () 137

R

1.89 8,5,x,6,10,5 T A A 7 € 7T 3 T 7H R AM?
(37 (@)9
(W) 15(]) 8
-

W. 90 (9/16)° T T VY BN
(31) 27/256 () 81/32
(W) 18/256 (%) 8/256
-

.91 AT OIS RAI Mz Wimzsmea
fmsmdm?

(3) 3/8(q)8/3

(|) 5/3(T)8/5

J:-

(1)



Q.92

Ans.

Q.93

Ans.
Q.94

Ans.

Q.95

Ans.
Q. 96
Ans,

Q.97

Ans.

Q.98

Ans.
Q.99
Ans.

Q.100

A horse race competition has 5 competitors.

Find out their possibility of winning the race
(@) 1/5 (b)2/5 (c) 7/6 (d)2/3

------------------------------------------------------------

Find the value of 'm' in given equation.
(Tm+6)/(4m+2)=2
(@) m=2 (b) m=3 (c) m=4 (d) m=5z

------------------------------------------------------------

The value of (5% is
(a) 325 (b) 625  (c) 425(d) 525

------------------------------------------------------------

When simplified, (x"+y")" is equal to
(a) x+y (b) xy/(x+y)
(c) xy (d) 1/xy

------------------------------------------------------------

Find the value of 5°X (-5)*
(a)54 (b)58 (c)57 (d)56

...........................................................

Curved surface of the cylinder
(a) 2 rh “(b)2rh
(c)2rh (d) 2 rh?

------------------------------------------------------------

Discount is always given on :
(a) Print price  (b) Cost price
(c) Selling price (d) Profit

------------------------------------------------------------

If 3*"=27 and 3*"'=243, then x is equal to..

@0 (®2 ()4 (d6

------------------------------------------------------------

The angle made by semicircle is
(a) Right angle (b) Acute angle
(c) Obtuse angle (d) None of these

------------------------------------------------------------

. 9zwqmmﬁmﬁqa5mﬁ3 5 d

: /(4m+2)=2 }
((;T:flz( (@) m=3 (J) m=4 () m=5

0 C £

7. 94 (59 1 4 B

(31) 325 (@) 625

() 425 () 525

I (3 £ SRR SRR eeseasses

7. 95 e B @ (x'+y") TH £
(3) x+y (T) xy/(x+y)
[@xy () 1xy
- :

¥ 96 5°X (-5)* ®I A fa1 &
(31) 54(d) 5° (W) 5'(7) 5°
It :-

1. 97 &7 ®1 35698 a1
(1) 2rh(d) 2¢h
(|)2rh (%) 2rh?
-

V. 98 §C FAY & A &
(31) 3T e (T) AR e
() 552 7w () A
I :-

V.99 AR 3*"=27 3R 3°=243 7q 3 B AR A am
(A0(T2 (M4(T)6
Ja:-.....

. 100 3T GR1 TR T T ey &
(31) DT () s Bior
g{iW(mmamqﬁ
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